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a) cos 60° — JE cos 30° sin45° + ctg 30° tg 150° — tg 45°%
6) sinZ + 2cosiii - 3ctg£.
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YupocTuTe BHIpasKeHHeE:
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6) sin(n — o) + cos (37 + o) + sin (—a) + cos (— ).
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a) (cos” o — sin” a)” + 4 sin” o cos” o
6) tgo +ctga, ecau sinocoso = 0,6.
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B) tga:—g; T) ctga:ﬁ.
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. YnpocTure BBIpa)KeHHE:

a) sin (5?" + (x]; 6) cos(3m +a); B) sin [77“ - u].
. Borumncsure 3cos (7?“ +a]+2 sin(17n — o), ecau sino =-0,2.

3sin(£~a] —2cos(T — @)
2
], ecau tga = 5.

2sin(n + o) — 3005(3?"—01
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B,

1. a)sinx=1; 6)cosx=—?2; B) sinx=%; r) cosx =

2. a)tgx=-1; 6)ctgx=+3; B) tgx:—?.
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3. a)sinx==; 6)cosx=-=; B)tgx=—; Tr)cosx=—.
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